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. The largest prime number of three digits is
a. 997
b. 999
c. 991
d. 993
. What is the sum of all prime numbers from 60 to 807
a. 361
b. 341
c. 351
d. 349
If a, a+2 and a+4 are prime numbers, then the number of all possible solutions for 'a’
is
. one
. two
three
None
. Which of the following is a prime number?
a. 889
b. 997
c. 899
d. 1147
SOlLN&HSH 6L IDMHleL G L &G emel 25-03-1971 60 gHLGSH W (LNHV6UT
WImg?
a. eTn.8fl.oyy
b. &HevoTTHISH
c. QwevedsT
d. &mrmr




OIBleVs S LS GUWaITerdl OMBleL aUeTIFF Q&HTeTend: (& (WD6UTH
LMIFTeLOLIL] Q&FWIWLILIL L [BIT6T?
a. 23-04-2021
b. 23-04-2019
c. 23-04-2020
d. 23-04-2018
. SOILBMTH WMElev GBI L& & W6l (LNG&H6V S160)600T HeMEVEUT?
a. (N.[HT&HITS 60T
b. (0.8.6VLmed)edT
c. QR.Q8UrehTeor
d. L.EsieImser
. sOLBTH WABleL aIeTiFRSH Q&MeTems GHUWeleT (WNH6ED 60600
FHEMEVAEUIT?
a. (LD.[BT&HBITSH 60T
b. p.8.6vLmedler
c. QR.Q12WIJEhs 6T
d. U.Feielmgeor
. G-7'46' 9peugl 2 &G mBr®) 6THS BTL1G60 HeMLGILIM 2_6TeTg?
a. QEISeTHSI
b. Lgmedreny
c. SQwuilsam
d. QgrLneofl

. IOMBleV QUETIFR Q&TeTend (GHDAIMETS (NSHVAIT 2 L LIL 6185 60)60T

2 MILILNeTT&H606TE G & T600TLSi?
a. 10
b. 11
c. 14
. 13




.uemeflEevallemwl SHpLL QFWeL®GSHWHe CHHAW  emalley
SUAPSHSH 60T @)L L0?

a. 3

b. 4

c. 5

d 2

. SOILBMTH GLHOMSSHET LMSIGTLIL em6eoTlld 2 [(HeumshaLILL L

24,6007 (B)
a. 2005
b. 2011
c. 2013
d. 2015
. S.I6IT. @ 6V& & &HEM6T LVLIHSSIeUTH 6L @S W meller @)L LD
a. 117
b. 193
c. 148
d. 166
. SOIPBTH &6 2L,60)600T Ul &6M6eVEUT WITH?
a. &SI J&BITSHe0T
b. Q&6 SC&FTSH 60T
c. eumeorS Feofleumaeor
d. 85T 8Seuer
.24 B&6eT UBICHEMHGL SCrmliumeier 'weym Ga&mliemul - 2020
&HMeVLIBS CGUITL LY 6TThIE HeMLGILIM 2_6Tems?
a. umfen
b. euML19.860T
c. Qupiedledr
. Gpmb




16. HLAPHSFH6 DRSSO DTeooTal] CFF&Hamasuiley B CHIalledr &M
GM&s SWITUBS MEGms FOIUNES n&eEELILLG6TeT
2 WIBlemevd & Walledr SHemevelr?
a. Jafbarmprs
b. 26uamy GB&eor
c BHUS ¢.C5%. pmeT
d. LO&LT G&. JITSITE (I 6q.600T60T
17. BLDESHE00TL. FanMMIGH6TI6V 675 / 6Teme FiflWLIMeoTemn6.?
i.  uesorUM(® 6TeOTLIG, LMHSIS NEHEUEDTH6e] eUeTIEFEF emnuliu]Ld
LM&CSHTHM aUeTIFFemnuwlwb, FFennenwu]ld GMILILI.
LIeooT LIT(H) 6T6dTmM Q&FMeVem6y (LNS606L MIPN&ELD QFWIST 19.C5.
G LDLITETTI.
'UeorQuUeTLILI(heug UTLMIBEH QRUOEGHD' 6T60Tm  |&HHITeTmI
Fo MBS
SOILPT LeooTLIM(H) @0 @ UIMISIT Lieoor LIT().
i) LnHmILD iv) &ifl
. i), i) LnmMILD iv) &Fifl
. i) L@ &yl
d. i) LG &if

18. BLDGGHEITL. oM MIG 66V 6151 / eTemad FIflulmesTemneu?

i.  H@LOme, NIHSHET UM (B (LNEMEEM6T Samialgl - LIFILIML6Y
i. STHmeVLD afF&Hens U0 (h CFI& Famialdl - QB(H HVEUTENL
i.  mlemeuwimemld LIMHNG SaMiaUG - WNSHCLOMLHSHSHTEHS
iv.  OLLIFRADmUN6T LLIg6oTd - LUSHHmILILSS!

a. i) InmmILD iv) Fifl
b. i) LbMoILD ii) &rfl
c. i) (i &l

d. emeTsH SN &Fifl




19. 'ef &S flwg &Le9er QUL Ieemery, eTedTemi D Bredleor LS LILienTullev @\ bHs
@uesor;  BTH&EBL  alenllss QSTLILQSTorH 2 6Ters s
G LU (heTeTs.
a. LeooremL_ W @BSHWIT Immih SHECI&&LIN
b. LesoTemL W @BSH W LMoL G
c. LIeuoTemL W @ MBS WIT InMmmID TSRS
d. &g Hmid HEF&HELD
20. QUITHS S5
1) QUITMST®H - Bl&TLOM
2) Sl DL 1q60TID - ST
3) BTG LILL Q60D - LIS
4) INJ&HS&TEOTS S0 - GEFMTLIL_LOIMT
. 3214
b. 4123
c. 1234
d. 2314
21. FMHIS &HIT6L HeVE6UL(H&6T &MeooTLILIL TS @)L_LD?
a. SHLILITEIG6TMmLD
b. BHGWILGL
c. HBeurnsLd
d. BTS00

22. UPpHSLIAD @eERWSH 2 60016 FeMNHGD (NENMEEMETEH JaMIilD
TBIT6V?
a. LDEDL. HIT6L

b. L9 BTev
C. SH60L BV

. 2_600T6) [BIT6V

3L, 60Temev6tT G5 TNM@ : https://forms.gle/5YEfGYXArv5YabbH7
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23. s0P&ESHHGD  FHsGelell BTHEFESHHGLD @enLGu 2 66T

QML QeueflliLR&SID Q&TEVE LIMIHET 24Ul16|&H6IT?
a. Q&MMHeN& LDMMID HLplg
b. yHFFHeLYNT LDMHMILD F&EHCL®
c. S IMHMID Q& M(HILDETITEY
d. 819 IHmID WS FF BT
24. B LD 5 5600TL_6UMMIGT HeUMTETS 61517
i. AhgQeuefluley  emDW  STHF O UBHSHENINEHTET  FTETMISH6T
amylumellev HenlL G Sl6Tens.
ii. QUTSISG6TIW6 6T QLMTHEHFSTCTTa6L @) BHSS!.
i. PbsQeefl WEHESEFHEG @emsullaunh BTLIQWSHID FEUTH
@) 6V6EDI6VL.
iv. Bbg TG WESET SLLBE&GH SLBeusmE&E Qeuuledey
SHTLMEUSS QFHIGMNEEMET L6 LM 5SS 6or.
a. (i) LnmHoILD (iv) Heuml
b. (i) (iii) LLMHMILD (iv) Seum
c. (i) L(hLb Heum
d. 96T gID Selml
25. &L_19.6V 6T6OTLIGI.
a. 6(h QIEMS LOIT6OT
b. & euemss L6OT
C. R U Y600
d. 6(h QNS BHMS
26. A E FnGeler] Brafled &eoor(ILIG&HELILIL L ,600T(H).
. 1921
. 1922
1970
. 1924




27. DEOTOOTSS @ HeaUBEH LUl GCHTTMID  &HMH  BlemevCLm
2 MLUWSTSH SemoWLD eTeor GMILILIBID HTev.
a. Umbrenm
b. Si&BTLMNDI
c. Qs meLsmULSwWLD

d. wevemeuLILmL (b

28. '@pH S &H6vor(h 666G HIHHSIT CUTLLEEMS' 6TETMI Fon MILD HT6V.
a. 9HBTON
b. Q&meva LWL
¢ 4UDmhmeanrm
d. mmnlemeoor
29. 'eTeueuldl HevevalT L el Ijeueudl Hevemev eumblul BlevGeor' eTedTM!

LITLQ UI6) .
a. [H6VELIHSIGUGDTITIT
b. BELGEUL LTI
C. UMWY
d. &meumGLIevor()
30. &1910JID 9L,& @6VEVTS LOFLD.
a. GeuldL|
b. Geumend
C. L|6OTem 60T
d. uemenr
31. D60l 1GLD&HE6VE SHITLILIWE T 6V 85ITULI G 600T L9600 85 UL 60T &5600T6U60T UIIT?
a. 2 SW@GLOITeor
b. &Teh&FevredT
C. FMSleueor

. FFFIHS60T




32. efleveIlLIMI&LD, &([HLOET eLpEVLNMS QeueflliLi(h&SID S mLD.
a. e@mBHCHMDLI
b. Lefl&H@HWILD
c. QuUITMIeMLD
d. Qzerfley
33. QBH60T60TH S G 6TLGELITITIT 6T60T BJeMLPGHSHLILI(HGUSGI.
a. HWGSLLemev QauLl(heurmeT Camelleu
b. HLILITMHIG 6T ML
c. BmEsmmef sy Camailsy
d. LOMeV6eLL|TLD
34. smllfluL UL IgeTSHe0  @@HS &FmSGEF HOUBISGET @BHSHT
aflpmelley Fnlq Wl D&&6T &HeooT(h&H6flHS QFUISH @)L LD QLM MIETET HIT6.
a. LOeTGLO&6m6v
b. Feuds FHS OO
c. FeollILHSTTLD
d. SLOUFTLOTUIEsTLD
35. BITLD&H 86060160 2_6T6T LNemeVEHBEHTL ML Camallensy &L 19 UGS ET.
a. LITe0oTLq.UI[F& 6T
b. GFMLPT&HET
c. LI6LeveuFseiT

d. BTW&SSTEH6T

36. ALILBAEMTISEH6  WTHe  (5HM0T UMSWITET  ILL 608606

QI WSTE GOILIL UL (HeTerg?
a. 13

b. 14
c. 12
.M




37. The remainder obtained when a prime number greater than 6 is divided by 6 is.

a. lTor3
b. 1or5
c. 3or5
d. 4or5
38. The product of all integers from 1 to 100 will have the following number of zeros at
the end.
a. 20
b. 24
c. 19
d. 22
39. The smallest three-digit prime number.
a. 103
b. 107
c. 109
d. 101
40. The smallest value of n, for which 2n+1 is not a prime number is.
a. 3
b. 4
€ 3
d. None
41. Which is correct statement?
The prime numbers between 1 to 100 is 25.
The prime numbers between 1 to 50 is 15.
The largest even prime number is 2, 1 is neither a prime number nor a
composite number.
The total number of even prime number is 1.
1 only
2 only
3 only




d. All
42. The sum of prime numbers between 60 and 75.
a. 199
b. 201
c. 211
d. 272
43. Which of the following is a prime number?
a. 161
b. 221
c. 373
d. 437

44. There are 4 prime numbers written in ascending order. The product of the first three is

385 and that of the last 3 is 1001 the first number is
a. 5
b. 7
g. |11
d. 17
45. The factors of 13 are
1,2 and 6
1,2and 3
1and 13
None of these
46. How many factors does a prime number have?
3
4
1




47. Which of these is a prime number?
a. 81
b. 33
c. 151
d. 63
48. A simple mathematical operation in each number of the sequence 14, 18, 20, 24, 30,
to results in a sequence with respect to prime numbers. Which one of the
following is the next number of the sequence?
a. 34
b. 36
c. 38
d. 40
49. @@ BUT @6UGQ6UT(IH 24600T(HID (WHenG W 3L,6ooT(h CFLIGS Q& memssuiley
LmSenw CFGEHMTY . 6 e0or(H&6rflev eUF ep 7875 & CHFIGHRMTY
6T6uf16V (LNGH6L 3L,600TI6V i) CFLIGS QBTN
a. em 2000
b. em 3000
c. €5 4000
d. em 5000

50. 1+2+3+ +N=666 6T60T16V N 60T LOG)LIL

a. 37

c. -37
d. -36
51. 1+2+43+
105625
105725
105825
105525




52. (PG 'n' @) UI6L 6T600TEs61T160T 6UIT8 8 MG 61607 Fa(h)&6V 285 LDMHMILD (LH&6V 'n'

@) ULI6V 6T600TSs61T1 60T & 600T 1 & 61T160T Fo(h &6V 2025 6T6vTl6L 'n' 60T LOGLIL.

a. 18
b. 9
c. 10
d 7
53. (13+23+ +15) 60T LDGILILY.
a. 14400
b. 14200
c. 14280
d. 14520
54. 3+k, 18-k, 5k+1 eTedTLIEDGU Fa (NS QSTLT euflensuilev @bHSHTev k' @) 6T
L&\,
a. 3
b. 4
¢.l2
d 1
55. eLNEOTMI 6T600TS6T Sl (HIQSTLT 6mLoWl [BLIH S 60 60T.
a. 2b = a+c
b. b=a+d
c. a,a+d,a+2d
d b—a=c—-»b
56. CLOGOTMI 6T600TS6IT QILIHEHGSHQSTLT 3{6mL0W [BLIH S5 60)60T.
a. b=ac
b. b?=ac
c. b=ar

d. b=a2c




57.300 &G 600 &G QemLCW 7 6V aUGUBLLD AMOTHS GUl6V
6160015611607 T (h) B 6V.
a. 168448
b. 18264
c. 19264
d. 17264

58. @BHWTaNICuCW 18 awW®HMm& CUMHULGCLTT emeTau(Bld  (100%)

Q&CImeTT SOLILE) CUTL (N&G&HTEoTL (LN&H6V HFMIOLDTeT  Geu Ul meoT
6TIHS LOMBlEVEH 6V 2_6ITETSI?
a. emiflwmerm
b. KWW sTaqlSF
c. BT&HMTVMHSI
d. eooflliL,F
59. @HH W CHTH6V 2i,60)600T UGS 60T @) [T600TLITEUS 31,60)600T WLIT TS &FLOLIG S 6V
QUITMILIGLIMMEUT
a. I FHGT LIMevorGL
b. s&adlév FHHTMT
c. pmgdley GLomy
d. F&yumevor
60. ®.BIT. &FMiYeL GLHMsSS QsmPhlevmeny eI Herid  eTeTm
S LNy &EsLUUGRMmS?
a. &gveor 10
b. egveor 1
c. &goetr 12
. 897960T 9






